
__________________________
Exam 1 stem & leaf

36.8 mean 9 6 A-1
34 median 8 B-0

21.10039 st. dev 7 C-0

15 min 6 9 D-1
96 max 5 F-13

15 count 4 078

3 447

2 0349

1 579

_________________________________

1.6

1.6 Graphs of Functions
    1.6.2 Exercises
   page 107: 1, 7, 9, 14, 21, 24, 32, 75

Memorize
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We cannot have x-axis symmetry for y as a function 
of x.  Such a relation would fail the vertical line test

Google Gemini
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Increasing on interval (-4,-2)
                                         (3,4)
                                          (5,6)
Decreasing on interval (-2,3)
Constant on interval (4,5)
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